AN KRN 2

H: MATRHEO X MEZ(ZELXNIMNL/NLALEA)
el NGy & AL 2= (Sl & &)
SA B (E) - NRAY - BES 0f & o San H D52
NS R=gn} 17,366,015 1,094,314 16,271,701
HHTNAS JHX MEX(ZEL XML /XALECAl) 25,000 33,600 A 8,600
ASHe & IMAEIE 25 25,000 33,600 A 8,600
BZXAMNY A= 25,000 33,600 A 8,600
202 044l 25,000 33,600 A 8,600
BIERTEI 25,000 33,600 8,600
OBE XY A=A 25,000
HY2I (AN DH)(IIEH/DIIEH) 33,015 30,914 2,101
Jl=23tl 33,015 30,914 2,101
2FA2Y JIE23H 33,015 30,914 2,101
201 LEt2E | 21,015 18,914 2,101
01 At 2teltl 21,015 18,914 2,101
ORMEZ ME2e 21,015
202 o4 Hl 9,000 9,000 0
01 2LHOI I 9,000 9,000 0
FN2E =LY 9,000
203 2 =&l 3,000 3,000 0
04 EASEYRFEH| 3,000 3,000 0
©15¢! 0Ol ot 250,000& 12 3,000
HeEsS(AHEMLA)(LESIHF/NE - 8) 14,100,000 0 14,100,000
WEHHX S 14,100,000 0 14,100,000
HERHE22IIZ A& 14,100,000 0 14,100,000
02 JI=sd&E=s 14,100,000 0 14,100,000
01 JI=sdE=2 14,100,000 0 14,100,000
OHIERHE &L= HES 14,100,000
2ok —’F—)tﬁll‘z‘\ NEHMA 2S04 - SAL/0UEXLI 3,208,000 1,029,800 2,178,200
0H e
KotArd g o Zah FHIS XA (X STHE A 3,208,000 1,029,800 2,178,200
ENSLEA)
2o Y FETA SZHLA 600,000 600,000 0
403 A X EHS =0l A 600,000 600,000 0
01 X S22 = 600,000 600,000 0
o3 AXE X3 600,000
AHATAL AZ T A KR 8,000 88,000 A 80,000
308 MXIEHMSOIH 8,000 8,000 0
01 HXHHBAEES 8,000 8,000 0
OLHI AL ASH ALK 8,000
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